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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed :

(D) (C) (B) (A) QUESTIONS Q-1
2 Aoz | Atz 73 et Je L £7A e | A
Vector Endonuclease Ligase Donor In genetic engineering plasmid is used as
PA oo L] 2 F - Gisser/Foc Ung| 2
Morphine Insuline Thymosin Interferon | Medicine derived from plant is
4000 3000 2000 1000 SEn S IALS] 3
Total chemicals in tobacco smoke are
Ik o s K 1) sy e LK s &t Sy sesS| 4
Renal Tubule |  Nephron Urethra Ureter | The name of tube between kidney and
urinary bladder is
s P Jad! i <t K‘t'-_".-zng’__.égfgu: e Sdui| s
Liver Thyroid Adrenal Pancrease |Name of gland beneath the la jghuman neck is
L | K Sz s %%;ﬂﬁl@mdf S L T| 6
Cornea Sclera Pupil Retina The round hole in the centre of Iris is called
Gk Al Gl 1 e t§ ALY T
Neuron Osteocyte Oocyte Chondrocyte |Name of the mature bone cell is
u’—‘“;c'rpizl Frr Oy St e JedUas gl 8
Endosperm Sperm Cell Zygote Egg Cell An example of diploid cell is.
nucleus
I u"J Il JUJ ..q..JD"*Jf.x’(f’ 2]
Potato Garlic Ginger Tulip Example of stem tuber is
_»,_A( Jfl rf)"}[ PR YT BT 5 -ufjifujff‘diptfdﬂf'-g 10
Gamete Allele Chromosome DNA Alternative forms of a gene are called
2 S H ] L SuisiSetm| 1
Genes Genotype Alleles Phenotype | Units of inheritance is called
e 13 Ji G e SG¥GAE i | 12
Nutrients Electricity Fire Sun Basic source of energy for all ecosystems is
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Answer briefly any Five parts from the followings:- 5x2=10 - J/77elz L1721 &t & M L ditn -2
How will you differentiate between stoma and a lenticel. -JAUkIiL Jf&%sltﬁf‘_ﬁ (i
What is meant by passive smoking. -y l_.f.-_. _ﬁ’fﬁ (i)
Write any four symptoms of Asthma. _u:’@,tuug S (i)
Define Hydrophytes and give one example. ~S2JE Ll "_é..éfiJﬁ%uJﬂ (iv)
Define Excretion. -qf_gfd/c?-}-q (v)
Define Receptors and Give At least two examples. Lo g 2 3 P St (i)
Write the two functions of Mid Brain. -u’,fdk Uit L of 44 (vii)
Define positive Feedback and give Example. "y s d’:dkf—usi é..gf?d’..ﬁ Jg-‘:’:.?‘Lr (viii)
Answer briefly any Five parts from the followings:- 5x2=10 -q&f..-.pz/‘?z:lzr 55 c.[jf.:..gﬂ Jits -3
Differentiate between flexion and extension. qé 5'1 Jik J‘::‘glul oS s (i)
State four role of the skeletal system. ¢ e e L J*"C (ii)
Define double fertilization. _u:/...yj"gfc}?y'ﬂf);}i (iv)  How does budding occurs in Corals?%« Jﬁ;{jﬁ;gﬁ 24 (iii)
State the role of water or moisture for seed Germination. Hg‘fs‘ug ;s,/s’u"gdg g‘ﬂ‘“] SE v) i
Differentiate between breeds and varieties or cultivars. _.’-_f-f f: ) ;;h&rg stk s (vi)

What is meant by Punnett Square. - sl &/ ¥ (vii)  State the Theory of Special CfeatiOn.,U:ful_g ,}’-(thfd‘r‘i (vii)
Answer briefly any Five parts from the followings:- 5x2=10 _q)}f.:-.pz/"?ﬁlm 5;1: c.Jfa.pﬁJ_iZw -4

What is Eutrophication? Write its any one reason. -u_“g.;-s._ﬁgjfuﬁlq. eVe VR SR PURN ()
What is global warming? Write its effects. el e Gt B tE i)
Define ammonification. -ibéfJa;ri__sdyl (iii)
Write two objectives of Genetic engineering. _é;f:s-"ti‘» ys _f}:’l Lz (iv)
What is gene Therapy. e irfe Ql/‘?u.‘." (v)
Differentiate between Antiseptics and Antibiotics. _ZE LI L S ._/ﬁ'?’J’-i (vi)
Define Pharmacology. ..é...y}.f&ﬁfus (vii)
What is Marijuana. Write its two bad effects. S fel e ind Jle S22 (vill)
Part H (s -~

Note: Attempt any two questions. 9%2=18 -;{fgfaylzﬁ =Ulye Jf Y
{(a) Define dialysis. Also explain haemodialysis. /_"’4 _u:f._-,}us J/yirﬂ:‘ u_r/...g!/;"J/Lli 0.5
(b) Describe in detail posterior lobe of pituitary gland. 5 Sl e J:‘i‘y.:.ﬂ,:’/é‘g f_.i:fd){v ()
(a) What is arthritis? Describe its three types. A4 ok rBE U VAT O
(b) Explain the reproductive system of male rabbit. A5 JZ ol J(*‘/}fb/;.;.f. S ()
(a) Define pollution. Write down the effects of air pollution. 4 L feinL Jb‘?dbr-éqj’}f&ﬁ O-7
(b) Describe the basic steps in Genetic Engineering. 5 oL Sroul £ G )
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
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sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
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Q-1

(D) (C) (B) (A) QUESTIONS
Jo A I 22 i 22 8 RN VPR PR SO
Glycerol Ethanol Acrylic Acid | Formic Acid | TS product uses in the production of
vineger and beverages.
otk s Hor o w17 Soiai Lo, 5
Penicillin Cephalosporin Aspirine Tetracycline | Sir Alexander Fleming discovered the
o2 (3 &AL U%E 6z e JWEdnL S| 3
Pharynx Eardrum Nasal Cavity Bronchi | THe empty space present in nose is called
C"L""-"“ Yy JC-J / _ufég...ﬂ.)fé_.:_.u'?;uﬁ/?/ 4
Mucilage Resins Latex Gums Waste materials that are secreted by Keekar
iy o de | 2ades 2F okl e 2 e o AL | 5
. Parathyroid . . .
Pancreas | Thyroid Gland Gland Adrenal Gland | The largest endocrine gland in Human body is
s ST s skl e tlllad LUt | 6
Vitreous . . Agueous . . 3
Humour lodopsin Rhodopsin Humour A pigment presept in
Vs 2L, =7 oy e bt b me LLi pEA e | T
) The movement of an animal as a whole from
Growth Locomotion Movement Support one place to another is called
._.6;{ ﬁdg chJ{g.;J;’-‘;LJ c}%!&){_};’—c - L;&G’f«){’a’ié uydfll_. d"’u'é,ﬁ» Ul 8
Cloning Pollination Asexual Sexual Some invertebrates also reproduce through
Reproduction | Reproduction | binary fission.
/':‘r A Pacs ):;w v .Z,'fi/fu.-fb’i Jr-i;j_}.' 9
Stamens Carpels Petals Sepals The units of Androecium are called
e ey S5 T et LAt 10
Recessive Dominant Phenotype Genotype ,Th'? gpe0|f:c combination'of genes in'an
individual is called
K e o de L4 e Gz 2y | 11
Carbon Cytosine Thymine Adenine Guanine forms pair with
s C‘ - 3,7 . g 2 i
AR | esaap | P | AP e Lt AL AP 12
Nitrogen o e s s o Conversion of Nitrogen gas into nitrates is
Fixation Nitrification | Ammonification | Denitrification | o416
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Part I

Answer briefly any Five parts from the followings:- 5x2=

What are vocal cords? What is their function.

What is Cellular respiration.

Differentiate between acute bronchitis and chronic bronchitis.
What is difference between transpiration and guttation.
What is skin? Write its function.

What is feedback Mechanism.

What is somatic nervous system.

Write two functions of oxytocin Hormone.

Answer briefly any Five parts from the followings:- 5x2=
Write down the difference between elastic cartilage and fibrous cartilage.
What do you know about Andreas vesalius?

Define multiple fission. Give example.

Write down two disadvantages of vegetative propagation.
What do you know about micropyle?

What is test Cross? Why it is needed?

Differentiate between phenotype and genotype.

What is meant by natural selection?

Answer briefly any Five parts from the followings:-
What is meant by ecosystem.

Differentiate between food chain and food web.
What are endoparasites? Write an example.

Write two advantages of using fermenters.

What is meant Ey genetic engineering.

Define Pharmacology.

Differentiate between antiseptics and disinfectants.

Differentiate between antigens and antibodies.

Part I

Note: Attempt any two questions. 9
(a) Explain the role of skin and lungs in homeostasis. / 4
(b) Describe the structure and function of spinal cord in detail. / 5
(a) What is arthritis? Discuss its types. 4
(b) What do you know about budding and fragmentation? /,"'5
Explain with examples.
(a) Write note on Mutualism and Commensalism. /4
(b) Describe basic steps in genetic engineering. /-" 5
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